Write the linear equation in slope intercept form.
List the slope and the y intercept.

Make a table of values (at leas t3 points)

4 —y—T=0



Graph it



Write the linear equation in slope intercept form.
List the slope and the y intercept.

Make a table of values (at leas t3 points)

2x —3y— 14 =0



Graph it



Write the linear equation in slope intercept form.
List the slope and the y intercept.

Make a table of values (at leas t3 points)

x+3y—4=0



Graph it



Write the linear equation in slope intercept form.
List the slope and the y intercept.

Make a table of values (at leas t3 points)

—4x + 5y + 16 =0



Graph it



Write the linear equation in slope intercept form.
List the slope and the y intercept.

Make a table of values (at leas t3 points)

y=—04x + 1.2



Graph it



Write the linear equation in slope intercept form.
List the slope and the y intercept.

Make a table of values (at leas t3 points)

3x+9=-;-



Graph it



